THERMOSLEEVE-USA CONFIDENTIAL CESPARTS DISTRIBUTOR PRICE SHEET JANUARY 1, 2020

The items listed on these pages represent our most popular series of tubing materials that are stocked in our Cerritos, California warehouse. Thermosleeve offers a vast selection of tubing products in various sizes, colors and put-up lengths.



For all other part numbers listed in either our literature or on our website, please contact us by phone or e-mail for pricing and availability.

PART #	DESCRIPTION	UOM	UOM \$	QTY	QTY \$	PART #	DESCRIPTION	UOM	UOM \$	QTY	QTY \$
						HST12X12W	HEAT SHRINK TUBING WHITE 1/2	1'	\$0.18	25	\$4.50
						HST12X12Y	HEAT SHRINK TUBING YELLOW 1/2"	1'	\$0.18	25	\$4.50
						HST34X12BK	HEAT SHRINK TUBING BLACK 3/4"	1'	\$0.34	25	\$8.50
	SINGLE WALL HEAT	SHRINK TUBIN	G- STICKS			HST34X12BL	HEAT SHRINK TUBING BLUE 3/4"	1'	\$0.34	25	\$8.50
	• 2:1 shrink ratio • UL	& CSA certified a	t 600V @ 125	°C		HST34X12C	HEAT SHRINK TUBING CLEAR 3/4"	1'	\$0.34	25	\$8.50
	Shrink temp. 90-120	0 °C ∙ UL File E180	908 (except o	:lear)		HST34X12G	HEAT SHRINK TUBING GREEN 3/4"	1'	\$0.34	25	\$8.50
						HST34X12R	HEAT SHRINK TUB RED 3/4"	1'	\$0.34	25	\$8.50
						HST34X12V	HEAT SHRINK TUBING VIOLET 3/4"	1'	\$0.34	25	\$8.50
						HST34X12W	HEAT SHRINK TUBING WHITE 3/4"	1'	\$0.34	25	\$8.50
1 miles						HST34X12Y	HEAT SHRINK TUBING YELLOW 3/4"	1'	\$0.34	25	\$8.50
						HST01X12BK	HEAT SHRINK TUBING BLACK 1"	1'	\$0.40	25	\$10.00
1 FT CUT PIECES	 1/16" to 3/8" 50 pieces per bag; 1/2" to 	1" 25 pieces per	bag			HST01X12BL	HEAT SHRINK TUBING BLUE 1"	1'	\$0.40	25	\$10.00
						HST01X12C	HEAT SHRINK TUBING CLEAR 1"	1'	\$0.40	25	\$10.00
HST116X12BK	HEAT SHRINK TUBING BLACK 1/16"	1'	\$0.08	50	\$4.00	HST01X12G	HEAT SHRINK TUBING GREEN 1"	1'	\$0.40	25	\$10.00
HST116X12BL	HEAT SHRINK TUBING BLUE 1/16"	1'	\$0.08	50	\$4.00	HST01X12R	HEAT SHRINK TUBING RED 1"	1'	\$0.40	25	\$10.00
HST116X12C	HEAT SHRINK TUBING CLEAR 1/16"	1'	\$0.08	50	\$4.00	HST01X12V	HEAT SHRINK TUBING VIOLET 1"	1'	\$0.40	25	\$10.00
HST116X12G	HEAT SHRINK TUBING GREEN 1/16"	1'	\$0.08	50	\$4.00	HST01X12W	HEAT SHRINK TUBING WHITE 1"	1'	\$0.40	25	\$10.00
HST116X12R	HEAT SHRINK TUB RED 1/16"	1'	\$0.08	50	\$4.00	HST01X12Y	HEAT SHRINK TUBING YELLOW 1"	1'	\$0.40	25	\$10.00
HST116X12V	HEAT SHRINK TUBING VIOLET 1/16"	1'	\$0.08	50	\$4.00						
HST116X12W	HEAT SHRINK TUBING WHITE 1/16"	1'	\$0.08	50	\$4.00	4 FT STICKS Av	ailable in sizes from 3/64" to 1" ID7				
HST116X12Y	HEAT SHRINK TUBING YELLOW 1/16"	1'	\$0.08	50	\$4.00						
HST364X12BK	HEAT SHRINK TUBING BLACK 3/64"	1'	\$0.08	50	\$4.00	HST364BK4	HEAT SHRINK TUBING BLACK 3/64" x 4'	4'	\$0.29	25	\$7.25
HST364X12BL	HEAT SHRINK TUBING BLUE 3/64"	1'	\$0.08	50	\$4.00	HST364BL4	HEAT SHRINK TUBING BLUE 3/64" x 4'	4'	\$0.29	25	\$7.25
HST364X12C	HEAT SHRINK TUBING CLEAR 3/64"	1'	\$0.08	50	\$4.00	HST364C4	HEAT SHRINK TUBING CLEAR 3/64" x 4'	4'	\$0.29	25	\$7.25
HST364X12G	HEAT SHRINK TUBING GREEN 3/64"	1'	\$0.08	50	\$4.00	HST364G4	HEAT SHRINK TUBING GREEN 3/64" x 4'	4'	\$0.29	25	\$7.25
HST364X12R	HEAT SHRINK TUB RED 3/64"	1'	\$0.08	50	\$4.00	HST364R4	HEAT SHRINK TUB RED 3/64" x 4'	4'	\$0.29	25	\$7.25
HST364X12V	HEAT SHRINK TUBING VIOLET 3/64"	1'	\$0.08	50	\$4.00	HST364V4	HEAT SHRINK TUBING VIOLET 3/64" x 4'	4'	\$0.29	25	\$7.25
HST364X12W	HEAT SHRINK TUBING WHITE 3/64"	1'	\$0.08	50	\$4.00	HST364W4	HEAT SHRINK TUBING WHITE 3/64" x 4'	4'	\$0.29	25	\$7.25
HST364X12Y	HEAT SHRINK TUBING YELLOW 3/64"	1'	\$0.08	50	\$4.00	HST364Y4	HEAT SHRINK TUBING YELLOW 3/64" x 4'	4'	\$0.29	25	\$7.25
HST332X12BK	HEAT SHRINK TUBING BLACK 3/32"	1'	\$0.10	50	\$5.00	HST116BK4	HEAT SHRINK TUBING BLACK 1/16" x 4'	4'	\$0.32	25	\$8.00
HST332X12BL	HEAT SHRINK TUBING BLUE 3/32"	1'	\$0.10	50	\$5.00	HST116BL4	HEAT SHRINK TUBING BLUE 1/16" x 4'	4'	\$0.32	25	\$8.00
HST332X12C	HEAT SHRINK TUBING CLEAR 3/32"	1'	\$0.10	50	\$5.00	HST116C4	HEAT SHRINK TUBING CLEAR 1/16" x 4'	4'	\$0.32	25	\$8.00
HST332X12G	HEAT SHRINK TUBING GREEN 3/32"	1'	\$0.10	50	\$5.00	HST116G4	HEAT SHRINK TUBING GREEN 1/16" x 4'	4'	\$0.32	25	\$8.00
HST332X12R	HEAT SHRINK TUB RED 3/32"	1'	\$0.10	50	\$5.00	HST116R4	HEAT SHRINK TUB RED 1/16" x 4'	4'	\$0.32	25	\$8.00
HST332X12V	HEAT SHRINK TUBING VIOLET 3/32"	1'	\$0.10	50	\$5.00	HST116V4	HEAT SHRINK TUBING VIOLET 1/16" x 4'	4'	\$0.32	25	\$8.00
HST332X12W	HEAT SHRINK TUBING WHITE 3/32"	1'	\$0.10	50	\$5.00	HST116W4	HEAT SHRINK TUBING WHITE 1/16" x 4'	4'	\$0.32	25	\$8.00
HST332X12Y	HEAT SHRINK TUBING YELLOW 3/32"	1'	\$0.10	50	\$5.00	HST116Y4	HEAT SHRINK TUBING YELLOW 1/16" x 4'	4'	\$0.32	25	\$8.00
HST18X12BK	HEAT SHRINK TUBING BLACK 1/8"	1'	\$0.11	50	\$5.50	HST332BK4	HEAT SHRINK TUBING BLACK 3/32" x 4'	4'	\$0.34	25	\$8.50
HST18X12BL	HEAT SHRINK TUBING BLUE 1/8"	1'	\$0.11	50	\$5.50	HST332BL4	HEAT SHRINK TUBING BLUE 3/32" x 4'	4'	\$0.34	25	\$8.50
HST18X12C	HEAT SHRINK TUBING CLEAR 1/8"	1'	\$0.11	50	\$5.50	HST332C4	HEAT SHRINK TUBING CLEAR 3/32" x 4'	4'	\$0.34	25	\$8.50
HST18X12G	HEAT SHRINK TUBING GREEN 1/8"	1'	\$0.11	50	\$5.50	HST332G4	HEAT SHRINK TUBING GREEN 3/32" x 4'	4'	\$0.34	25	\$8.50
HST18X12R	HEAT SHRINK TUB RED 1/8"	1'	\$0.11	50	\$5.50	HST332R4	HEAT SHRINK TUB RED 3/32" x 4'	4'	\$0.34	25	\$8.50
HST18X12V	HEAT SHRINK TUBING VIOLET 1/8"	1'	\$0.11	50	\$5.50	HST332V4	HEAT SHRINK TUBING VIOLET 3/32" x 4'	4'	\$0.34	25	\$8.50
HST18X12W	HEAT SHRINK TUBING WHITE 1/8"	1'	\$0.11	50	\$5.50	HST332W4	HEAT SHRINK TUBING WHITE 3/32" x 4'	4'	\$0.34	25	\$8.50
HST18X12Y	HEAT SHRINK TUBING YELLOW 1/8"	1'	\$0.11	50	\$5.50	HST332Y4	HEAT SHRINK TUBING YELLOW 3/32" x 4'	4'	\$0.34	25	\$8.50
HST14X12BK	HEAT SHRINK TUBING BLACK 1/4"	1'	\$0.13	50	\$6.50	HST18BK4	HEAT SHRINK TUBING BLACK 1/8" x 4'	4'	\$0.43	25	\$10.75
HST14X12BL	HEAT SHRINK TUBING BLUE 1/4"	1'	\$0.13	50	\$6.50	HST18BL4	HEAT SHRINK TUBING BLUE 1/8" x 4'	4'	\$0.43	25	\$10.75
HST14X12C	HEAT SHRINK TUBING CLEAR 1/4"	1'	\$0.13	50	\$6.50	HST18C4	HEAT SHRINK TUBING CLEAR 1/8" x 4'	4'	\$0.43	25	\$10.75
HST14X12G	HEAT SHRINK TUBING GREEN 1/4"	1'	\$0.13	50	\$6.50	HST18G4	HEAT SHRINK TUBING GREEN 1/8" x 4'	4'	\$0.43	25	\$10.75
HST14X12R	HEAT SHRINK TUB RED 1/4"	1'	\$0.13	50	\$6.50	HST18R4	HEAT SHRINK TUB RED 1/8" x 4'	4'	\$0.43	25	\$10.75
HST14X12V	HEAT SHRINK TUBING VIOLET 1/4"	1'	\$0.13	50	\$6.50	HST18V4	HEAT SHRINK TUBING VIOLET 1/8" x 4'	4'	\$0.43	25	\$10.75
HST14X12W	HEAT SHRINK TUBING WHITE 1/4"	1'	\$0.13	50	\$6.50	HST18W4	HEAT SHRINK TUBING WHITE 1/8" x 4'	4'	\$0.43	25	\$10.75
HST14X12Y	HEAT SHRINK TUBING YELLOW 1/4"	1'	\$0.13	50	\$6.50	HST18Y4	HEAT SHRINK TUBING YELLOW 1/8" x 4'	4'	\$0.43	25	\$10.75
HST316X12BK	HEAT SHRINK TUBING BLACK 3/16"	1'	\$0.13	50	\$6.50	HST316BK4	HEAT SHRINK TUBING BLACK 3/16" x 4'	4'	\$0.46	25	\$11.50
HST316X12BL	HEAT SHRINK TUBING BLUE 3/16"	1'	\$0.13	50	\$6.50	HST316BL4	HEAT SHRINK TUBING BLUE 3/16" x 4'	4'	\$0.46	25	\$11.50
HST316X12C	HEAT SHRINK TUBING CLEAR 3/16"	1'	\$0.13	50	\$6.50	HST316C4	HEAT SHRINK TUBING CLEAR 3/16" x 4'	4'	\$0.46	25	\$11.50
HST316X12G	HEAT SHRINK TUBING GREEN 3/16"	1'	\$0.13	50	\$6.50	HST316G4	HEAT SHRINK TUBING GREEN 3/16" x 4'	4'	\$0.46	25	\$11.50
HST316X12R	HEAT SHRINK TUB RED 3/16"	1'	\$0.13	50	\$6.50	HST316R4	HEAT SHRINK TUB RED 3/16" x 4'	4'	\$0.46	25	\$11.50
HST316X12V	HEAT SHRINK TUBING VIOLET 3/16"	1'	\$0.13	50	\$6.50	HST316V4	HEAT SHRINK TUBING VIOLET 3/16" x 4'	4'	\$0.46	25	\$11.50
HST316X12W	HEAT SHRINK TUB TUBING WHITE 3/16	' 1'	\$0.13	50	\$6.50	HST316W4	HEAT SHRINK TUB TUBING WHITE 3/16" x 4'	4'	\$0.46	25	\$11.50
HST316X12Y	HEAT SHRINK TUBING YELLOW 3/16"	1'	\$0.13	50	\$6.50	HST316Y4	HEAT SHRINK TUBING YELLOW 3/16" x 4'	4'	\$0.46	25	\$11.50
HST38X12BK	HEAT SHRINK TUBING BLACK 3/8"	1'	\$0.17	50	\$8.50	HST14BK4	HEAT SHRINK TUBING BLACK 1/4" x 4'	4'	\$0.50	25	\$12.50
HST38X12BL	HEAT SHRINK TUBING BLUE 3/8"	1'	\$0.17	50	\$8.50	HST14BL4	HEAT SHRINK TUBING BLUE 1/4" x 4'	4'	\$0.50	25	\$12.50
HST38X12C	HEAT SHRINK TUBING CLEAR 3/8"	1'	\$0.17	50	\$8.50	HST14C4	HEAT SHRINK TUBING CLEAR 1/4" x 4'	4'	\$0.50	25	\$12.50
HST38X12G	HEAT SHRINK TUBING GREEN 3/8"	1'	\$0.17	50	\$8.50	HST14G4	HEAT SHRINK TUBING GREEN 1/4" x 4'	4'	\$0.50	25	\$12.50
HST38X12R	HEAT SHRINK TUB RED 3/8"	1'	\$0.17	50	\$8.50	HST14R4	HEAT SHRINK TUB RED 1/4" x 4'	4'	\$0.50	25	\$12.50
HST38X12V	HEAT SHRINK TUBING VIOLET 3/8"	1'	\$0.17	50	\$8.50	HST14V4	HEAT SHRINK TUBING VIOLET 1/4" x 4'	4'	\$0.50	25	\$12.50
HST38X12W	HEAT SHRINK TUBING WHITE 3/8"	1'	\$0.17	50	\$8.50	HST14W4	HEAT SHRINK TUBING WHITE 1/4" x 4'	4'	\$0.50	25	\$12.50
HST38X12Y	HEAT SHRINK TUBING YELLOW 3/8"	1'	\$0.17	50	\$8.50	HST14Y4	HEAT SHRINK TUBING YELLOW 1/4" x 4'	4'	\$0.50	25	\$12.50
HST12X12BK	HEAT SHRINK TUBING BLACK 1/2"	1'	\$0.18	25	\$4.50	HST38BK4	HEAT SHRINK TUBING BLACK 3/8" x 4'	4'	\$0.62	25	\$15.50
HST12X12BL	HEAT SHRINK TUBING BLUE 1/2"	1'	\$0.18	25	\$4.50	HST38BL4	HEAT SHRINK TUBING BLUE 3/8" x 4'	4'	\$0.62	25	\$15.50
HST12X12C	HEAT SHRINK TUBING CLEAR 1/2"	1'	\$0.18	25	\$4.50	HST38C4	HEAT SHRINK TUBING CLEAR 3/8" x 4'	4'	\$0.62	25	\$15.50
HST12X12G	HEAT SHRINK TUBING GREEN 1/2"	1'	\$0.18	25	\$4.50	HST38G4	HEAT SHRINK TUBING GREEN 3/8" x 4'	4'	\$0.62	25	\$15.50
HST12X12R	HEAT SHRINK TUB RED 1/2"	1'	\$0.18	25	\$4.50	HST38R4	HEAT SHRINK TUB RED 3/8" x 4'	4'	\$0.62	25	\$15.50
		1'	\$0.18	25	\$4.50	HST38V4	HEAT SHRINK TUBING VIOLET 3/8" x 4'	4'	\$0.62		\$15.50

1

PART #	DESCRIPTION		U	OM	PRICE
HST38W4	HEAT SHRINK TUBING WHITE 3/8" x 4'	4'	\$0.62	25	\$15.50
HST38Y4	HEAT SHRINK TUBING YELLOW 3/8" x 4'	4'	\$0.62	25	\$15.50
HST12BK4	HEAT SHRINK TUBING BLACK 1/2" x 4'	4'	\$0.69	25	\$17.25
HST12BL4	HEAT SHRINK TUBING BLUE 1/2" x 4'	4'	\$0.69	25	\$17.25
HST12C4	HEAT SHRINK TUBING CLEAR 1/2" x 4'	4'	\$0.69	25	\$17.25
HST12G4	HEAT SHRINK TUBING GREEN 1/2" x 4'	4'	\$0.69	25	\$17.25
HST12R4	HEAT SHRINK TUB RED 1/2" x 4'	4'	\$0.69	25	\$17.25
HST12V4	HEAT SHRINK TUBING VIOLET 1/2" x 4'	4'	\$0.69	25	\$17.25
HST12W4	HEAT SHRINK TUBING WHITE 1/2 x 4'	4'	\$0.69	25	\$17.25
HST12Y4	HEAT SHRINK TUBING YELLOW 1/2" x 4'	4'	\$0.69	25	\$17.25
HST34BK4	HEAT SHRINK TUBING BLACK 3/4" x 4'	4'	\$1.28	25	\$32.00
HST34BL4	HEAT SHRINK TUBING BLUE 3/4" x 4'	4'	\$1.28	25	\$32.00
HST34C4	HEAT SHRINK TUBING CLEAR 3/4" x 4'	4'	\$1.28	25	\$32.00
HST34G4	HEAT SHRINK TUBING GREEN 3/4" x 4'	4'	\$1.28	25	\$32.00
HST34R4	HEAT SHRINK TUB RED 3/4" x 4'	4'	\$1.28	25	\$32.00
HST34V4	HEAT SHRINK TUBING VIOLET 3/4" x 4'	4'	\$1.28	25	\$32.00
HST34W4	HEAT SHRINK TUBING WHITE 3/4" x 4'	4'	\$1.28	25	\$32.00
HST34Y4	HEAT SHRINK TUBING YELLOW 3/4" x 4'	4'	\$1.28	25	\$32.00
HST01BK4	HEAT SHRINK TUBING BLACK 1" x 4'	4'	\$1.57	25	\$39.25
HST01BL4	HEAT SHRINK TUBING BLUE 1" x 4'	4'	\$1.57	25	\$39.25
HST01C4	HEAT SHRINK TUBING CLEAR 1" x 4'	4'	\$1.57	25	\$39.25
HST01G4	HEAT SHRINK TUBING GREEN 1" x 4'	4'	\$1.57	25	\$39.25
HST01R4	HEAT SHRINK TUBING RED 1" x 4'	4'	\$1.57	25	\$39.25
HST01V4	HEAT SHRINK TUBING VIOLET 1" x 4'	4'	\$1.57	25	\$39.25
HST01W4	HEAT SHRINK TUBING WHITE 1" x 4'	4'	\$1.57	25	\$39.25
HST01Y4	HEAT SHRINK TUBING YELLOW 1" x 4'	4'	\$1.57	25	\$39.25



SINGLE WALL HEAT SHRINK- SPOOLS

• 2:1 shrink ratio • UL & CSA certified at 600V @ 125°C • Shrink temp. 90-120 °C • UL File E180908 (except clear). Available in sizes up to 4" ID

HST364BK	HEAT SHRINK TUBING BLACK 3/64"	C'	\$4.32
HST364BL	HEAT SHRINK TUBING BLUE 3/64"	C'	\$4.32
HST364C	HEAT SHRINK TUBING CLEAR 3/64"	C'	\$4.32
HST364G	HEAT SHRINK TUBING GREEN 3/64"	C'	\$4.32
HST364R	HEAT SHRINK TUBING RED 3/64"	C'	\$4.32
HST364V	HEAT SHRINK TUBING VIOLET 3/64"	C'	\$4.32
HST364W	HEAT SHRINK TUBING WHITE 3/64"	C'	\$4.32
HST364Y	HEAT SHRINK TUBING YELLOW 3/64"	C'	\$4.32
HST116BK	HEAT SHRINK TUBING BLACK 1/16"	C'	\$4.57
HST116BL	HEAT SHRINK TUBING BLUE 1/16"	C'	\$4.57
HST116C	HEAT SHRINK TUBING CLEAR 1/16"	C'	\$4.57
HST116G	HEAT SHRINK TUBING GREEN 1/16"	C'	\$4.57
HST116R	HEAT SHRINK TUBING RED 1/16"	C'	\$4.57
HST116V	HEAT SHRINK TUBING VIOLET 1/16"	C'	\$4.57
HST116W	HEAT SHRINK TUBING WHITE 1/16"	C'	\$4.57
HST116Y	HEAT SHRINK TUBING YELLOW 1/16"	C'	\$4.57
HST332BK	HEAT SHRINK TUBING BLACK 3/32"	C'	\$4.76
HST332BL	HEAT SHRINK TUBING BLUE 3/32"	C'	\$4.76
HST332C	HEAT SHRINK TUBING CLEAR 3/32"	C'	\$4.76
HST332G	HEAT SHRINK TUBING GREEN 3/32"	C'	\$4.76
HST332R	HEAT SHRINK TUBING RED 3/32"	C'	\$4.76
HST332V	HEAT SHRINK TUBING VIOLET 3/32"	C'	\$4.76
HST332W	HEAT SHRINK TUBING WHITE 3/32"	C'	\$4.76
HST332Y	HEAT SHRINK TUBING YELLOW 3/32"	C'	\$4.76
HST18BK	HEAT SHRINK TUBING BLACK 1/8"	C'	\$5.59
HST18BL	HEAT SHRINK TUBING BLUE 1/8"	C'	\$5.59
HST18C	HEAT SHRINK TUBING CLEAR 1/8"	C'	\$5.59
HST18G	HEAT SHRINK TUBING GREEN 1/8"	C'	\$5.59
HST18R	HEAT SHRINK TUBING RED 1/8"	C'	\$5.59
HST18V	HEAT SHRINK TUBING VIOLET 1/8"	C'	\$5.59
HST18W	HEAT SHRINK TUBING WHITE 1/8"	C'	\$5.59
HST18Y	HEAT SHRINK TUBING YELLOW 1/8"	C'	\$5.59
HST316BK	HEAT SHRINK TUBING BLACK 3/16"	C'	\$6.26
HST316BL	HEAT SHRINK TUBING BLUE 3/16"	C'	\$6.26
HST316C	HEAT SHRINK TUBING CLEAR 3/16"	C'	\$6.26
HST316G	HEAT SHRINK TUBING GREEN 3/16"	C'	\$6.26
HST316R	HEAT SHRINK TUBING RED 3/16"	C'	\$6.26
HST316V	HEAT SHRINK TUBING VIOLET 3/16"	C'	\$6.26
HST316W	HEAT SHRINK TUBING WHITE 3/16"	C'	\$6.26
HST316Y	HEAT SHRINK TUBING YELLOW 3/16"	C'	\$6.26
HST14BK	HEAT SHRINK TUBING BLACK 1/4"	C'	\$7.49
HST14BL	HEAT SHRINK TUBING BLUE 1/4"	C'	\$7.49
HST14C	HEAT SHRINK TUBING CLEAR 1/4"	C'	\$7.49
HST14G	HEAT SHRINK TUBING GREEN 1/4"	C'	\$7.49
HST14R	HEAT SHRINK TUBING RED 1/4"	C'	\$7.49
HST14V	HEAT SHRINK TUBING VIOLET 1/4"	C'	\$7.49
HST14W	HEAT SHRINK TUBING WHITE 1/4"	C'	\$7.49
HST14W HST14Y	HEAT SHRINK TUBING WHITE 1/4 HEAT SHRINK TUBING YELLOW 1/4"	C'	\$7.49
HST38BK	HEAT SHRINK TUBING BLACK 3/8"	C'	\$9.18
HST38BL	HEAT SHRINK TUBING BLACK 5/8 HEAT SHRINK TUBING BLUE 3/8"	C'	\$9.18
HST38BL HST38C	HEAT SHRINK TUBING BLUE 3/8 HEAT SHRINK TUBING CLEAR 3/8"	C'	\$9.18
HST38G	HEAT SHRINK TUBING GREEN 3/8"	C'	\$9.18
0001011	HEAT STATING TODING GREEN 3/0	C	22.18

PART #	DESCRIPTION	UOM	PRICE
HST38R	HEAT SHRINK TUBING RED 3/8"	C'	\$9.18
HST38V	HEAT SHRINK TUBING VIOLET 3/8"	C'	\$9.18
HST38W	HEAT SHRINK TUBING WHITE 3/8"	C'	\$9.18
HST38Y	HEAT SHRINK TUBING YELLOW 3/8"	C'	\$9.18
HST12BK	HEAT SHRINK TUBING BLACK 1/2"	C'	\$12.39
HST12BL	HEAT SHRINK TUBING BLUE 1/2"	C'	\$12.39
HST12C	HEAT SHRINK TUBING CLEAR 1/2"	C'	\$12.39
HST12G	HEAT SHRINK TUBING GREEN 1/2"	C'	\$12.39
HST12R100	HEAT SHRINK TUBING RED 1/2"	C'	\$12.39
HST12V	HEAT SHRINK TUBING VIOLET 1/2"	C'	\$12.39
HST12W	HEAT SHRINK TUBING WHITE 1/2"	C'	\$12.39
HST12Y	HEAT SHRINK TUBING YELLOW 1/2"	C'	\$12.39
HST34BK	HEAT SHRINK TUBING BLACK 3/4"	C'	\$23.12
HST34BL	HEAT SHRINK TUBING BLUE 3/4"	C'	\$23.12
HST34C	HEAT SHRINK TUBING CLEAR 3/4"	C'	\$23.12
HST34G	HEAT SHRINK TUBING GREEN 3/4"	- C'	\$23.12
HST34R	HEAT SHRINK TUBING RED 3/4"	C'	\$23.12
HST34V	HEAT SHRINK TUBING VIOLET 3/4"	C'	\$23.12
HST34W	HEAT SHRINK TUBING WHITE 3/4"	C'	\$23.12
HST34Y	HEAT SHRINK TUBING WHITE 3/4"	C'	\$23.12
HST01BK	HEAT SHRINK TUBING BLACK 1"	C'	\$33.35
HST01BL	HEAT SHRINK TUBING BLACK T	C'	\$33.35
HST01C	HEAT SHRINK TUBING CLEAR 1"	C'	\$33.35
HST01G	HEAT SHRINK TUBING CLEAR T	C'	\$33.35
HST01G	HEAT SHRINK TUBING GREEN T HEAT SHRINK TUBING RED 1"	C'	\$33.35
HST01V	HEAT SHRINK TUBING VIOLET 1"	C'	\$33.35
HST01W	HEAT SHRINK TUBING WHITE 1"	C'	\$33.35
HST01Y	HEAT SHRINK TUBING YELLOW 1"	C'	\$33.35
HST1-1/4BK100	HEAT SHRINK TUBING BLACK 1 1/4"	C'	\$39.52
HST1-1/4BL100	HEAT SHRINK TUBING BLUE 1 1/4"	C'	\$39.52
HST1-1/4C100	HEAT SHRINK TUBING CLEAR 1 1/4"	C'	\$39.52
HST1-1/4G100	HEAT SHRINK TUBING GREEN 1 1/4"	C'	\$39.52
HST1-1/4R100	HEAT SHRINK TUBING RED 1 1/4"	C'	\$39.52
HST1-1/4W100	HEAT SHRINK TUBING WHITE 1 1/4"	C'	\$39.52
HST1-1/4Y100	HEAT SHRINK TUBING YELLOW 1 1/4"	C'	\$39.52
HST1-1/2BK80	HEAT SHRINK TUBING BLACK 1 1/2"	80'	\$48.17
HST1-1/2BL80	HEAT SHRINK TUBING BLUE 1 1/2"	80'	\$48.17
HST1-1/2C80	HEAT SHRINK TUBING CLEAR 1 1/2"	80'	\$48.17
HST1-1/2G80	HEAT SHRINK TUBING GREEN 1 1/2"	80'	\$48.17
HST1-1/2R80	HEAT SHRINK TUBING RED 1 1/2"	80'	\$48.17
HST1-1/2W80	HEAT SHRINK TUBING WHITE 1 1/2"	80'	\$48.17
HST1-1/2Y80	HEAT SHRINK TUBING YELLOW 1 1/2"	80'	\$48.17
HST2BK80	HEAT SHRINK TUBING BLACK 2"	80'	\$74.19
HST2BL80	HEAT SHRINK TUBING BLUE 2"	80'	\$74.19
HST2C80	HEAT SHRINK TUBING CLEAR 2"	80'	\$74.19
HST2G80	HEAT SHRINK TUBING GREEN 2"	80'	\$74.19
HST2R80	HEAT SHRINK TUBING RED 2"	80'	\$74.19
HST2W80	HEAT SHRINK TUBING WHITE 2"	80'	\$74.19
HST2Y80	HEAT SHRINK TUBING YELLOW 2"	80'	\$74.19
HST3BK65	HEAT SHRINK TUBING BLACK 3"	65'	\$78.81
HST3C65	HEAT SHRINK TUBING CLEAR 3"	65'	\$78.81
HST3R65	HEAT SHRINK TUBING RED 3"	65'	\$78.81
HST4BK65	HEAT SHRINK TUBING BLACK 4"	65'	\$128.56
HST4C65	HEAT SHRINK TUBING CLEAR 4"	65'	\$128.56
HST4R65	HEAT SHRINK TUBING RED 4"	65'	\$128.56
		05	\$120.50

YELLOW GREEN SINGLE WALL HEAT SHRINK- SPOOL

• 2:1 shrink ratio • UL & cUL certified at 600V @ 125°C • Shrink temp. 120-150 °C • UL File E180908. • Available in sizes up to 1" ID

CBHFTYG3/16330	HEAT SHRINK TUBING WHITE 3/16"	330'	\$22.45
CBHFTYG1/8660	HEAT SHRINK TUBING WHITE 1/8"	660'	\$37.80
CBHFTYG1/4330	HEAT SHRINK TUBING WHITE 1/4"	330'	\$24.58
CBHFTYG3/8330	HEAT SHRINK TUBING WHITE 3/8"	330'	\$27.58
CBHFTYG1/2330	HEAT SHRINK TUBING WHITE 1/2"	330'	\$37.10
CBHFTYG3/4330	HEAT SHRINK TUBING WHITE 3/4"	330'	\$109.65
CBHFTYG1165	HEAT SHRINK TUBING WHITE 1"	165'	\$87.20



3X SINGLE WALL HEAT SHRINK- SPOOLED • 3:1 shrink ratio • UL & CSA certified at 600V @ 125°C

• Shrink temp. 90-120 °C • UL File E180908. • Available in sizes up to 1" ID

CBHFT3X3/16BK330	3:1 HEAT SHRINK TUBING BLACK 3/16"	330'	\$27.75
CBHFT3X1/8BK660	3:1 HEAT SHRINK TUBING BLACK 1/8"	660'	\$39.66
CBHFT3X1/4BK330	3:1 HEAT SHRINK TUBING BLACK 1/4"	330'	\$32.93
CBHFT3X3/8BK330	3:1 HEAT SHRINK TUBING BLACK 3/8"	330'	\$45.24

PART #	DESCRIPTION	UOM	PRICE
CBHFT3X1/2BK330	3:1 HEAT SHRINK TUBING BLACK 1/2"	330'	\$58.23
CBHFT3X3/4BK330	3:1 HEAT SHRINK TUBING BLACK 3/4"	330'	\$148.30
CBHFT3X1BK100	3:1 HEAT SHRINK TUBING BLACK 1"	C'	\$47.22

PART # DESCRIPTION



DUAL WALL ADHESIVE-LINED HEAT SHRINK TUBING

• 3:1 shrink ratio • UL & cUL certified at 600V @ 125°C • Shrink temp. 110 °C • UL File E180908 (except clear) • RoHS compliant • Black, Red, Clear

UOM

UOM \$

QTY

UOM

PRICE

QTY \$

1 FT CUT PIECES

PART #

Adhesive-lined • 1/8" to 3/8"- 50 pieces/bag; 1/2 " to 1"- 25 pieces/bag; 1 1/4" to 2" 1 piece/bag

DUAL WALL HEAT SHRINK BLACK 1/8"	1'	\$0.31	50	\$15.50
				213.30
DUAL WALL HEAT SHRINK CLEAR 1/8"	1'	\$0.31	50	\$15.50
DUAL WALL HEAT SHRINK RED 1/8"	1'	\$0.31	50	\$15.50
DUAL WALL HEAT SHRINK BLACK 3/16"	1'	\$0.38	50	\$19.00
DUAL WALL HEAT SHRINK CLEAR 3/16"	1'	\$0.38	50	\$19.00
DUAL WALL HEAT SHRINK RED 3/16"	1'	\$0.38	50	\$19.00
DUAL WALL HEAT SHRINK BLACK 1/4"	1'	\$0.41	50	\$20.50
DUAL WALL HEAT SHRINK CLEAR 1/4"	1'	\$0.41	50	\$20.50
DUAL WALL HEAT SHRINK RED 1/4"	1'	\$0.41	50	\$20.50
DUAL WALL HEAT SHRINK BLACK 3/8"	1'	\$0.59	50	\$29.50
DUAL WALL HEAT SHRINK CLEAR 3/8"	1'	\$0.59	50	\$29.50
DUAL WALL HEAT SHRINK RED 3/8"	1'	\$0.59	50	\$29.50
DUAL WALL HEAT SHRINK BLACK 1/2"	1'	\$0.61	25	\$15.25
DUAL WALL HEAT SHRINK CLEAR 1/2"	1'	\$0.61	25	\$15.25
DUAL WALL HEAT SHRINK RED 1/2"	1'	\$0.61	25	\$15.25
DUAL WALL HEAT SHRINK BLACK 3/4"	1'	\$0.90	25	\$22.50
DUAL WALL HEAT SHRINK CLEAR 3/4"	1'	\$0.90	25	\$22.50
DUAL WALL HEAT SHRINK RED 3/4"	1'	\$0.90	25	\$22.50
DUAL WALL HEAT SHRINK BLACK 1"	1'	\$1.13	25	\$28.25
DUAL WALL HEAT SHRINK CLEAR 1"	1'	\$1.13	25	\$28.25
DUAL WALL HEAT SHRINK RED 1"	1'	\$1.13	25	\$28.25
DUAL WALL HEAT SHRINK BLACK 1 1/4"	1'	\$1.58	1	\$1.58
DUAL WALL HEAT SHRINKCLEAR 1 1/4"	1'	\$1.58	1	\$1.58
DUAL WALL HEAT SHRINK RED 1 1/4"	1'	\$1.58	1	\$1.58
DUAL WALL HEAT SHRINK BLACK 1 1/2"	1'	\$2.20	1	\$2.20
DUAL WALL HEAT SHRINK CLEAR 1 1/2"	1'	\$2.20	1	\$2.20
DUAL WALL HEAT SHRINK RED 1 1/2"	1'	\$2.20	1	\$2.20
DUAL WALL HEAT SHRINK BLACK 2"	1'	\$2.34	1	\$2.34
DUAL WALL HEAT SHRINK CLEAR 2"	1'	\$2.34	1	\$2.34
DUAL WALL HEAT SHRINK RED 2"	1'	\$2.34	1	\$2.34
	DUAL WALL HEAT SHRINK BLACK 3/16" DUAL WALL HEAT SHRINK CLEAR 3/16" DUAL WALL HEAT SHRINK RED 3/16" DUAL WALL HEAT SHRINK RED 3/16" DUAL WALL HEAT SHRINK RED 1/4" DUAL WALL HEAT SHRINK RED 3/8" DUAL WALL HEAT SHRINK RED 3/8" DUAL WALL HEAT SHRINK CLEAR 1/2" DUAL WALL HEAT SHRINK RED 3/8" DUAL WALL HEAT SHRINK RED 1/2" DUAL WALL HEAT SHRINK RED 3/4" DUAL WALL HEAT SHRINK REACK 1" DUAL WALL HEAT SHRINK REA 3/4" DUAL WALL HEAT SHRINK RED 3/4" DUAL WALL HEAT SHRINK RED 3/4" DUAL WALL HEAT SHRINK RED 1" DUAL WALL HEAT SHRINK RED 1" DUAL WALL HEAT SHRINK RED 1" DUAL WALL HEAT SHRINK RED 1 1/4" DUAL WALL HEAT SHRINK RED 1 1/2" DUAL WALL HEAT SHRINK RED 1 1/2"	DUAL WALL HEAT SHRINK BLACK 3/16" 1' DUAL WALL HEAT SHRINK CLEAR 3/16" 1' DUAL WALL HEAT SHRINK RED 3/16" 1' DUAL WALL HEAT SHRINK CLEAR 1/4" 1' DUAL WALL HEAT SHRINK CLEAR 1/4" 1' DUAL WALL HEAT SHRINK CLEAR 3/8" 1' DUAL WALL HEAT SHRINK RED 3/8" 1' DUAL WALL HEAT SHRINK CLEAR 3/8" 1' DUAL WALL HEAT SHRINK CLEAR 1/2" 1' DUAL WALL HEAT SHRINK CLEAR 1/2" 1' DUAL WALL HEAT SHRINK CLEAR 1/2" 1' DUAL WALL HEAT SHRINK RED 1/2" 1' DUAL WALL HEAT SHRINK RED 3/4" 1' DUAL WALL HEAT SHRINK RED 1' 1' DUAL WALL HEAT SHRINK RED 1' 1' DUAL WALL HEAT SHRINK RED 1' 1' DUAL	DUAL WALL HEAT SHRINK BLACK 3/16" 1' \$0.38 DUAL WALL HEAT SHRINK CLEAR 3/16" 1' \$0.38 DUAL WALL HEAT SHRINK CLEAR 3/16" 1' \$0.38 DUAL WALL HEAT SHRINK RED 3/16" 1' \$0.38 DUAL WALL HEAT SHRINK RED 3/16" 1' \$0.41 DUAL WALL HEAT SHRINK BLACK 1/4" 1' \$0.41 DUAL WALL HEAT SHRINK CLEAR 3/8" 1' \$0.59 DUAL WALL HEAT SHRINK CLEAR 3/8" 1' \$0.59 DUAL WALL HEAT SHRINK BLACK 1/2" 1' \$0.61 DUAL WALL HEAT SHRINK BLACK 1/2" 1' \$0.61 DUAL WALL HEAT SHRINK BLACK 3/4" 1' \$0.90 DUAL WALL HEAT SHRINK BLACK 3/4" 1' \$0.90 DUAL WALL HEAT SHRINK CLEAR 1/4" 1' \$1.13 DUAL WALL HEAT SHRINK RED 1/4" 1' \$1.13 DUAL WALL HEAT SHRINK CLEAR 1'/4" 1' \$1.58 DUAL WA	DUAL WALL HEAT SHRINK BLACK 3/16" 1' \$0.38 50 DUAL WALL HEAT SHRINK CLEAR 3/16" 1' \$0.38 50 DUAL WALL HEAT SHRINK CLEAR 3/16" 1' \$0.38 50 DUAL WALL HEAT SHRINK RED 3/16" 1' \$0.38 50 DUAL WALL HEAT SHRINK RED 3/16" 1' \$0.38 50 DUAL WALL HEAT SHRINK RED 3/16" 1' \$0.41 50 DUAL WALL HEAT SHRINK CLEAR 1/4" 1' \$0.41 50 DUAL WALL HEAT SHRINK CLEAR 1/4" 1' \$0.41 50 DUAL WALL HEAT SHRINK CLEAR 1/4" 1' \$0.41 50 DUAL WALL HEAT SHRINK RED 1/4" 1' \$0.59 50 DUAL WALL HEAT SHRINK RED 3/8" 1' \$0.61 25 DUAL WALL HEAT SHRINK BLACK 1/2" 1' \$0.61 25 DUAL WALL HEAT SHRINK BLACK 3/4" 1' \$0.90 25 DUAL WALL HEAT SHRINK BLACK 1/2" 1' \$0.90 25 DUAL WALL HEAT SHRINK BLACK 1" 1' \$1.13 25 DUAL WALL HEAT SHRINK KED 3/4" \$

4FT STICKS 3:1 shrink ratio - adhesive-lined • UL & cUL certified at 600V @ 125°C • Shrink temp. 110 °C • UL File E180908 (except clear) • RoHS compliant. Available in sizes up to 2" ID

DESCRIPTION

CBDWT3X1/8BK4	DUAL WALL HEAT SHRINK BLACK 1/8"	4'	\$1.15
CBDWT3X1/8C4	DUAL WALL HEAT SHRINK CLEAR 1/8"	4'	\$1.15
CBDWT3X1/8R4	DUAL WALL HEAT SHRINK RED 1/8"	4'	\$1.15
CBDWT3X316BK4	DUAL WALL HEAT SHRINK BLACK 3/16"	4'	\$1.38
CBDWT3X316C4	DUAL WALL HEAT SHRINK CLEAR 3/16"	4'	\$1.38
CBDWT3X316R4	DUAL WALL HEAT SHRINKREDK 3/16"	4'	\$1.38
CBDWT3X1/4BK4	DUAL WALL HEAT SHRINK BLACK 1/4"	4'	\$1.58
CBDWT3X1/4C4	DUAL WALL HEAT SHRINK CLEAR 1/4"	4'	\$1.58
CBDWT3X1/4R4	DUAL WALL HEAT SHRINK RED 1/4"	4'	\$1.58
CBDWT3X38BK4	DUAL WALL HEAT SHRINK BLACK 3/8"	4'	\$2.20
CBDWT3X38C4	DUAL WALL HEAT SHRINK CLEAR 3/8"	4'	\$2.20
CBDWT3X38R4	DUAL WALL HEAT SHRINKREDK 3/8"	4'	\$2.20
CBDWT3X1/2BK4	DUAL WALL HEAT SHRINK BLACK 1/2"	4'	\$2.34
CBDWT3X1/2C4	DUAL WALL HEAT SHRINK CLEAR 1/2"	4'	\$2.34
CBDWT3X1/2R4	DUAL WALL HEAT SHRINK RED 1/2"	4'	\$2.34
CBDWT3X34BK4	DUAL WALL HEAT SHRINK BLACK 3/4"	4'	\$3.36
CBDWT3X34C4	DUAL WALL HEAT SHRINK CLEAR 3/4"	4'	\$3.36
CBDWT3X34R4	DUAL WALL HEAT SHRINKREDK 3/4"	4'	\$3.36
CBDWT3X1BK4	DUAL WALL HEAT SHRINK BLACK 1"	4'	\$4.29
CBDWT3X1C4	DUAL WALL HEAT SHRINK CLEAR 1"	4'	\$4.29
CBDWT3X1R4	DUAL WALL HEAT SHRINKREDK 1"	4'	\$4.29
CBDWT3X1-1/4BK4	DUAL WALL HEAT SHRINK BLACK 1 1/4"	4'	\$4.99
CBDWT3X1-1/4C4	DUAL WALL HEAT SHRINK CLEAR 1 1/4"	4'	\$4.99
CBDWT3X1-1/4R4	DUAL WALL HEAT SHRINK RED 1 1/4"	4'	\$4.99
CBDWT3X1-1/2BK4	DUAL WALL HEAT SHRINK BLACK 1 1/2"	4'	\$7.05
CBDWT3X1-1/2C4	DUAL WALL HEAT SHRINK CLEAR 1 1/2"	4'	\$7.05
CBDWT3X1-1/2R4	DUAL WALL HEAT SHRINK RED 1 1/2"	4'	\$7.05
CBDWT3X2BK4	DUAL WALL HEAT SHRINK BLACK 2"	4'	\$13.20
CBDWT3X2C4	DUAL WALL HEAT SHRINK CLEAR 2"	4'	\$13.20
CBDWT3X2R4	DUAL WALL HEAT SHRINKREDK 2"	4'	\$13.20

DESCRIPTION

UOM PRICE



MEDIUM WALL ADHESIVE-LINED HEAT SHRINK TUBING- 4FT STICKS • 3:1 & 4:1 shrink ratio • Shrink temp. 120 °C • UL File E180908 • RoHS compliant • From 5/16" to 3"

MWTA516BK ME MWTA118BK ME MWTA1-1/4BK4 ME MWTA1916BK ME MWTA2316BK ME MWTA03BK ME

MEDIUM WALL HEAT SHRINK TUBING BLACK 5/16" x 4'	4'	\$1.01
MEDIUM WALL HEAT SHRINK TUBING BLACK 1 1/8" x 4'	4'	\$2.95
MEDIUM WALL HEAT SHRINK TUBING BLACK 1 1/4" x 4'	4'	\$3.00
MEDIUM WALL HEAT SHRINK TUBING BLACK 1 9/16" x 4'	4'	\$4.05
MEDIUM WALL HEAT SHRINK TUBING BLACK 2 3/16" x 4'	4'	\$5.30
MEDIUM WALL HEAT SHRINK TUBING BLACK 3" x 4'	4'	\$7.50



HEAVY WALL ADHESIVE-LINED HEAT SHRINK TUBING- 4FT STICKS 3:1 & 4:1 shrink ratio • Shrink temp. 120 °C

UL File E180908 • RoHS compliant

HWTA3/8BK4	HEAVY WALL HEAT SHRINK TUBING BLACK 3/8" x 4'	4'	\$1.52
HWTA3/8R4	HEAVY WALL HEAT SHRINK TUBING RED 3/8" x 4'	4'	\$1.75
HWTA1/2BK4	HEAVY WALL HEAT SHRINK TUBING BLACK 1/2" x 4'	4'	\$2.38
HWTA1/2R4	HEAVY WALL HEAT SHRINK TUBING RED 1/2" x 4'	4'	\$2.82
HWTA3/4BK4	HEAVY WALL HEAT SHRINK TUBING BLACK 3/4" x 4'	4'	\$3.35
HWTA3/4R4	HEAVY WALL HEAT SHRINK TUBING RED 3/4" x 4'	4'	\$3.84
HWTA1-3/8BK4	HEAVY WALL HEAT SHRINK TUBING BLACK 1 3/8" x 4'	4'	\$4.66
HWTA1-3/8R4	HEAVY WALL HEAT SHRINK TUBING RED 1 3/8" x 4'	4'	\$4.90
HWTA1-1/2BK4	HEAVY WALL HEAT SHRINK TUBING BLACK 1 1/2" x 4'	4'	\$5.15
HWTA1-1/2R4	HEAVY WALL HEAT SHRINK TUBING RED 1 1/2" x 4'	4'	\$5.90
HWTA1-3/4BK4	HEAVY WALL HEAT SHRINK TUBING BLACK 1 3/4" x 4'	4'	\$5.42
HWTA1-3/4R4	HEAVY WALL HEAT SHRINK TUBING RED 1 3/4" x 4'	4'	\$6.25
HWTA2-1/8BK4	HEAVY WALL HEAT SHRINK TUBING BLACK 2 1/8" x 4'	4'	\$6.03
HWTA2-1/8R4	HEAVY WALL HEAT SHRINK TUBING RED 2 1/8" x 4'	4'	\$6.65
HWTA3-3/8BK4	HEAVY WALL HEAT SHRINK TUBING BLACK 3 3/8" x 4'	4'	\$9.78
HWTA3-3/8R4	HEAVY WALL HEAT SHRINK TUBING RED 3 3/8" x 4'	4'	\$10.71



SINGLE WALL HEAT SHRINK- MARKER SLEEVES

- 3:1 shrink ratio UL & CSA certified at 600V @ 125°C
- UL & MIL Spec print performance
- Shrink temp. 90-120 °C UL File E180908
- Available in 100 ft. spools in 1/8" up to 1" ID
- White; other colors available as special order

CBHFTTM3X1/8W100 3:1 HEAT SHRINK TUBING WHITE 1/8" C' \$12.64 CBHFTTM3X3/16W100 3:1 HEAT SHRINK TUBING WHITE 3/16" C' \$14.75 CBHFTTM3X1/4W100 3:1 HEAT SHRINK TUBING WHITE 1/4" C' \$16.76 CBHFTTM3X3/8W100 3:1 HEAT SHRINK TUBING WHITE 3/8" C' \$21.35 CBHFTTM3X1/2W100 3:1 HEAT SHRINK TUBING WHITE 1/2" C' \$29.58 CBHFTTM3X3/4W100 3:1 HEAT SHRINK TUBING WHITE 3/4" C' \$33.20 CBHFTTM3X1W100 3:1 HEAT SHRINK TUBING WHITE 1" \$45.38 C



HEAT SHRINK TUBING- 6" BAGGED

SINGLE WALL HEAT SHRINK TUBING- 6" BAGGED Sizes from 1/16" to 1"

• 2:1 shrink ratio • UL & CSA certified at 600V @ 125°C
Shrink temp. 90-120 °C • UL File E180908 (except clear)
• Color 5-pack come in:(1) BK, (1) BU, (1) CL, (1) GN, (1) YW
• Color 10-pack come in:(2) BK, (1) BU, (2) CLr, (1) GN, (2) RD, (1) WT, (1) YW
 Black 24-pack has 4 pieces per sizes: 3/32", 1/8", 3/16", 1/4" 3/8", 1/2"

HSTBAG1016	1/16" x 6" COLOR HEAT SHRINK 10PK	EA	\$0.68
HSTBAG2016	1/16" x 6" BLACK HEAT SHRINK 10PK	EA	\$0.68
HSTBAG10332	3/32" x 6" COLOR HEAT SHRINK 10PK	EA	\$0.68
HSTBAG20332	3/32" x 6" BLACK HEAT SHRINK 10PK	EA	\$0.68
HSTBAG1018	1/8" x 6" COLOR HEAT SHRINK 10PK	EA	\$0.78
HSTBAG2018	1/8" x 6" BLACK HEAT SHRINK 10PK	EA	\$0.73
HSTBAG10316	3/16" x 6" COLOR HEAT SHRINK 10PK	EA	\$0.85
HSTBAG20316	3/16" x 6" BLACK HEAT SHRINK 10PK	EA	\$0.72
HSTBAG1014	1/4" x 6" COLOR HEAT SHRINK 10PK	EA	\$0.91

4

DWHSTBAG2018B	1/8" x 6" BLACK DUAL WALL HEAT SHRINK 5PK	EA	\$0.75
DWHSTBAG2018R	1/8" x 6" RED DUAL WALL HEAT SHRINK 5PK	EA	\$0.75
DWHSTBAG20316B	3/16" x 6" BLACK DUAL WALL HEAT SHRINK 5PK	EA	\$0.84
DWHSTBAG20316R	3/16" x 6" RED DUAL WALL HEAT SHRINK 5PK	EA	\$0.84
DWHSTBAG2014B	1/4" x 6" BLACK DUAL WALL HEAT SHRINK 5PK	EA	\$1.09
DWHSTBAG2014R	1/4" x 6" RED DUAL WALL HEAT SHRINK 5PK	EA	\$1.09
DWHSTBAG2038B	3/8" x 6" BLACK DUAL WALL HEAT SHRINK 5PK	EA	\$1.24
DWHSTBAG2038R	3/8" x 6" RED DUAL WALL HEAT SHRINK 5PK	EA	\$1.24
DWHSTBAG2012B	1/2" x 6" BLACK DUAL WALL HEAT SHRINK 5PK	EA	\$1.55
DWHSTBAG2012R	1/2" x 6" RED DUAL WALL HEAT SHRINK 5PK	EA	\$1.55
DWHSTBAG2034B	3/4" x 6" BLACK DUAL WALL HEAT SHRINK 3PK	EA	\$1.70
DWHSTBAG2034R	3/4" x 6" RED DUAL WALL HEAT SHRINK 3PK	EA	\$1.70
DWHSTBAG2001B	1" x 6" BLACK DUAL WALL HEAT SHRINK 3PK	EA	\$1.80
DWHSTBAG2001R	1" x 6" RED DUAL WALL HEAT SHRINK 3PK	EA	\$1.80

• 3:1 shrink ratio • UL & cUL certified at 600V @ 125°C • Shrink temp. 110 °C • UL File E180908 (except clear) • RoHS compliant • Black or Red, 1/8" to 1/2" 5 per pack; 3/4" to 1" 3 per pack

DUAL WALL HEAT SHRINK TUBING- 6" BAGGED Sizes from 1/8" to 1"

PART #	DESCRIPTION	UOM	PRICE
HSTBAG2014	1/4" x 6" BLACK HEAT SHRINK 10PK	EA	\$0.91
HSTBAG1038	3/8" x 6" COLOR HEAT SHRINK 10PK	EA	\$1.03
HSTBAG2038	3/8" x 6" BLACK HEAT SHRINK 10PK	EA	\$1.03
HSTBAG1012	1/2" x 6" COLOR HEAT SHRINK 10PK	EA	\$1.15
HSTBAG2012	1/2" x 6" BLACK HEAT SHRINK 10PK	EA	\$1.15
HSTBAG1034	3/4" x 6" COLOR HEAT SHRINK 5PK	EA	\$1.30
HSTBAG2034	3/4" x 6" BLACK HEAT SHRINK 5PK	EA	\$1.30
HSTBAG1001	1" x 6" COLOR HEAT SHRINK 5PK	EA	\$1.35
HSTBAG2001	1" x 6" BLACK HEAT SHRINK 5PK	EA	\$1.35
HSTBAG24	ASSORTED BLACK HEAT SHRINK 24PK	EA	\$1.70

HSTBOX160BLK	HEAT SHRINK BOX 4" BLACK x 160PK	EA	\$5.54
DUAL WALL- BOXE	D • 3:1 shrink ratio • UL & cUL certified at 600V @ 125 ^c	PC ∙ Shrink temp. 110 °C	
• 4" Black/Red: (20) 1/16", (20) 1/8", (10) 1/4", (5) 3/8", (5) 1/2", (2) 3/4"			
DWHSTBOX62B	DUAL-WALL HEAT SHRINK KIT 4" X 62 BLACK	EA	\$9.35
DWHSTBOX62R	DUAL-WALL HEAT SHRINK KIT 4" X 62 RED	EA	\$9.35

HSTBOX158B	HEAT SHRINK BOX 2.5" BLACK x 158PK	EA	\$4.62
HSTBOX158R	HEAT SHRINK BOX 2.5" RED x 158PK	EA	\$4.62
HSTBOX160	HEAT SHRINK BOX 4" COLORS x 160PK	EA	\$5.54
HSTBOX160BLK	HEAT SHRINK BOX 4" BLACK x 160PK	EA	\$5.54

• 4" Black: (60) 1/16", (35) 3/32", (25) 1/8", (20) 3/16", (10) 1/4", (10) 3/8"

• 2.5" Black/Red: (60) 1/16", (40) 1/8", (20) 3/16", (18) 1/4", (10) 3/8", (10) 1/2" • 4" Color: Black, Blue, Clear, Green, White, Yellow. Size: (60) 1/16", (35) 3/32", (25) 1/8", (20) 3/16", (10) 1/4", (10) 3/8"

SINGLE WALL BOXED • 2:1 shrink ratio • UL & CSA certified at 600V @ 125°C

HEAT SHRINK TUBING KITS - BOXED

DESCRIPTION

PART #

PRICE

800-262-7818 • 562-926-5758